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In Hoftnann bromamide degradation, one of the lmportant step S IS the mlgratlon of
A) an alkyl group without its electron pair to electron deﬂ0|ent N atom ‘ ‘
B) an alkyl group with its electron pair to electron deﬂCIent 0 atom =

C) an alkyl group with its electron pair to electron rlch N atom

D) an alkyl group with its electron pair to electron deﬁcnent N atom S

Correct Answer: D el

Solution : o B S
anns degradatlon lnvolves mlgratlon to electron deficient mtrogen atom, hence the alkyl

[d] For this one should remember that Hofm

group will migrate with its bonding pair of electrons / u,; IL Ny .:m.? ;_F_ ,,,,,,_m,,,t.f L N o o
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Toute Bt N 1 cheviven Sréumeny:

—so=c=ir %2, mm,+co2

Alky] isocyanate



